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(1) (C)' =0 (23 (x“')':/,oc""l
(3) (sin x)' =cosx (4) (cosx)'=—sin x
(6) (tan x)'=sec” x (6) (cotx) =—csc’x
(7T) (secx)’ =sec xtan x (8) (cscx)'=—cscxcotx
9 (@)Y =a"lmha (1 () =e*
v 1 , 1
(11) (Jog_,x)'= (12) (n x)'=—.,
xln a S
; ; 1 . 1

(13) (arcsin x)' = —F— (14) (arccosx)' =— =

A1 —x? L—oc
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(15) (arctan x)' = - (16) (arccotx)' =— <
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iR u=u(x), v=v(x)#FAIH, 0
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(sinx) s:n(x -+ > )
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(cosx)") = cosx + %)
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(uv)(n) - Z,Cff e (—K) (k)
k=0
n—1
(xa)(n) - [I_I(a _k)]xa—n —a(a—1¥a— 2)__,(a — n + l)x"—n
k=0

(Inx)") = (—1)"" ' (n—1)x""

(Cf)‘") — Cf("]

1 (r2) __ ;s ” !
(x+a) =1 (x+a)ra+1
B F*
[s¢(ax + B)]™? = a”™ - u™) (ax+ b)
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[2e(x) = v(x)]") = ") (x) = v (x)
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" (2)
f(x)=f(xo)+f'(xo)(x—xo)+f ;TO) (x—xp)? ol n?%)‘(x—xo)"*L&(x)
(2+])
ﬁmm E&ﬁm Rn (x) = f (éj (x_xo)n+l
(n+1)!
R 2EF e 3] R, ()= o[(x—2)"]
1 1, L 5 5
& = 1+ﬁx+ﬁx + 37X +o(x )
In(l +x)=x— lx2+ lx?’ +o(x3)
2 =
sinx =x— Z3x” + =X +o(x>)

arcsinx—x+—xx3+ IX3xx_5_+1><3x5xx7 +o(x7)
B 2 3 2x4 5 2x4x%6 7

1 1
COSX‘: 1 —ixz -+ Exd' +o(x4)
! =1+x+x2+x3+o(x3)
1 —x

Lyt =1 +%x+ a(az? S 13):(‘1_2)x3+o(x3‘)
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